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EN—72—2017
FACULTY OF COMMERCE
B.Com. (Third Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
(CBCS Pattern)
COST ACCOUNTING

Paper 1
(MCQ + Theory)
(Saturday, 14-10-2017) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. :— () Solve Question No. 1 on OMR sheet during the first half an hour.

(7i) Question No. 1 is compulsory.
(zi1) All questions carry equal marks.
(fv) Simple calculator is allowed.
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1. Multiple Choice Questions :
E@Rﬁ?ﬁ EERERSIECI I
(1) Which is the function of cost accounting ?
(A)  Cost and price determination
(B)  Cost control
(C)  Policy making
(D) All of the above
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(2) Issue of material is the main function of ................... .
(A) Storehouse (B)  Accountant
(C) Cashier (D)  Clerk
TS i R o 3 ygE @ IR
(31) WIERTE (@) e
(%) e (%) fafus

3) In Taylor’s differential piece rate system .........ccccccceeeeeeiiiinnns wages not
given.
(A)  High piece rate (B)  Low piece rate
(C)  Guaranted wages (D)  None of these
Soren R @R UEdg o Rt S @
(31) =9 49 T (F) fm= 99 e
(%) TR A (8) =Ml T

(4) Aggregate of all direct cost is known as ..................... .
(A)  Factory cost (B)  Office cost
(C)  Prime cost (D) Total cost
T T geE URER e a1 A S
(31) fraift 9ftera (d) wEfem aiem
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(5) Prime cost + works overheads + office overheads = ................... )
(A) Cost of production (B) Total cost
(C) Works cost (D) None of these
qUM TR + T SIReTT + SR SHeg o
(31) SURH e () THW aieHm
(%) Treiolt after= (8) AR A
(6) Purchase is the part of ........................ .
(A) Direct material (B)  Office overhead
(C) Selling overhead (D)  Factory overhead
T T e S
(31) Ty |l (¥)  FEeE g
(®) famt A= (§) Tl i

(7) Base of apportionment of electric power expenses is ................... .
(A)  No. of workers
(B)  Area occupied
(C)  Horse power of machine

(D) -~ None of the above

foegd TR T fAumTOiEr e 3 TR,
(31)  HTHIET Gl (F) URU Shad &
(%) oma wfew (I9) () =Rt TRl

(8) Single or output costing method is commonly used by ................... .
(A)  Cement Industry (B)  Steel Industry
(C) ~ Sugar Industry (D)  All of these

P.T.O.
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9) Disadvantages of time rate system ................... .

(A) No incentive (B) Idle time

(C) Extra supervision cost (D)  All of these

(31) KT YoM ATED (9) M a g .l
e ufiteqa (®) Akt 94
(10) Indirect material is a part of .................... .

(A)  Office overheads

o o

(h) SATdRE ™

(B) Selling and distribution overheads
(C)  Factory overheads
(D)  None of the above

(31) ST sifueg
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(%) T stferee
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Theory
In respect of a factory, the following figures have been obtained for the year
ended on 31st December, 2015 : 10
N
Cost of materials 1,50,000
Direct wages 1,25,000
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Factory overheads 75,000
Office overheads 84,000
Selling overheads 66,000
Distribution overheads 35,000
Profit 1,05,000

A work order has been executed in the year 2016 and the following expenses

have been incurred.

3
Materials 12,000
Wages 8,000

Assuming that in 2016 the rate of factory overheads have gone up by 10%,
distribution overheads have gone down by 10% and selling and office overheads
have each gone up by 5%. At what price should the product be marked so

as to earn the same rate of profit as in 2015.

The factory overheads are based on direct wages and office, selling and

distribution overheads on factory cost.

31 fedsR 2015 o HUcican Iuigeei=i Uenl fAHoi=l ATfed @ieftal Y907 378

4
i e g 1,50,000
A8 Al 1,25,000
fmfoft stfierm 75,000
wEeE e 84,000
fast siferera 66,000
oo sifere™ 35,000
GIE 1,05,000
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2016 A1 IEESI Tk FRE-3TRI HANGd hHell YT AR Weilal @€ Fer 8.

4§
RS 1o 12,000
ENK 8,000

2016 =1 guia fafont ifiegara 10% 7 9@, famm Afiegand 10% 3 w12, snfor fast
9 FEE AT TRt 5% 1 916 Bsd A Afed &&4 2015 A1 I9a Hae=n

SO A% U USSR foeet Jed oo @ 9 ?
Triolt stferera goae asier enfor s, faskt smifvr faaeon sifvers fmiol g
ST 3TE.

Or
(feram)
The following purchases and issues were made during April, 2016 :
Date Particulars Quantity Rate
(units) per unit
®)
April 2 Purchased 2000 10
April 6 Purchased 300 12
April 9 Issued 1200 —
April 10 Purchased 200 14
April 12 Issued 1000 —
April 20 Purchased 300 11
April 29 Issued 200 —

Prepare the Store Ledger Account under weighted average price
method.
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(%)
T 2 TRET 2000 10
T 6 TR 300 12
T 9 IEHEE 1200 —
T 10 BRET 200 14
e 12 IGNLE 1000 —
T 20 TRET 300 11
e 29 IEUEE| 200 —

T Hifgdiaed 9d TE0 (H189) TS WeR YuSi ol a9r” .

3. The following receipts were made in a month of April 2016 for
material X’ 10

1-4-2016 Opening stock 200 units at ¥ 3.50
3-4-2016 Receipt 300 units at T 4.00
13-4-2016  Receipt 900 units at ¥ 4.30
23-4-2016  Receipt 600 units at ¥ 3.80

The issues were as follows :

5-4-2016 Issues 400 units

15-4-2016  Issues 600 units

25-4-2016  Issues 600 units

Prepare Store Ledger Account under simple average rate method.

P.T.O.
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A 2016 Afe ‘&' Wil W<l Sl YHO B
1-4-2016  UR®YW @Y 200 T TIHT T 3.50
3-4-2016 Ul 300 T Ucehi T 4.00
13-4-2016 9Tt 900 T T&H! T 4.30
23-4-2016 W<t 600 T Yceh! I 3.80
IRRE G G e b S
5-4-2016  TTEA 400 =71
15-4-2016  TH=9 600
25-4-2016  TFET 600 =1
el T (W) g HIeR YUSt ol dar .

Or

(feram)
Calculate the total earning of a worker under :
@) Time Rate Method
) Piece Rate Method

(zii)  Halsey Plan
@iv) Rowan Plan
Information given :
Standard time — 45 hours

Time taken — 30 hours

Hourly rate of wages is ¥ 1 per hour plus a dearness allowance @ 50 paise

per hour worked.

Tehl ShTARIE TeRUl 3cq= Hifgd Rl :
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Calculate the machine-hour-rate from the following information : 10

3
Cost of machine 80,000
Cost of installation 20,000
Scrap value of machine after 10 years 20,000
Rent and rates for a quarter for the shop 30,000
General lighting for the shop per month 2,000
Shop supervisor’s salary for a quarter 60,000
Insurance premium for a machine per annum 600
Estimated repairs of a machine per annum 1,000

Power consumption 2 units per hour, at ¥ 50 for 100 units. Estimated working

hours of a machine per annum 2000 hours.

The machine occupies 1/4 of the total area of the shop. The supervisor is expected
to devote 1/6 of his total time for this machine. General lighting expenses

are to be apportioned on the basis of floor area.

[N

Teld feean Aifedioed T o9 ‘99 9 €U Sl

4

I IR e 80,000
T SYROT T 20,000
P.T.O.
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T FUMT TA A A 20,000
HTAIMST JHE 9 9 T 30,000
SIS ATk TehIel T 2,000
el fRieTshrT S WIR 60,000
EEICINCIECARCR eI Sl 600
I SAIfieh SRS gEw ©E 1,000

I fost e : ufd a9 2 Tk, fasEr ) ufd 100 w2 50 IE ot
FER TE : 2000 qH
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Or
(feram)
Discuss the advantages and limitations of cost accounting.

Ieqa @R BER 9 HaE A=t 9=l .
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